Ri\Clients\Taylor Permanent\TX-4495-98.dwg, TX-4498

TLYLO R

Entrance Systems™

AMERICA'S DOORMAKER
631 N.FIRST ST. WEST BRANCH, Ml 48661

GLAZED STEEL DOORS
DOUBLES
w/ or w/o SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door described herein complies with the 2006 International
Residential Code (IRC), Sections R301 & Ré13 and the 2006 International
Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including
Texas revisions) subject to the following conditions:

. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure ratfing shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
I Typical elevations, design pressures & general notes
Door & Sidelite panel details
Elevations
Vertical cioss sections
Horizontal cross sections
Hardware details
Frame anchoring
Bill of matericls and components

QDN O~ W N

— 74" MAX. OVERALL FRAME WIDTH —=

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F-11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

98" OVERALL FRAME HEIGHT

[9p]
e 1
22
98]
&
<
Qc .
oX Z 0
S S=
AR |, Fig
%LT'_, 2 aog
S n G'_cm
) Q2 qlé‘:J
e o 53
O Q_U)
S o 0
=) | =W
o o o
@ < a
o [a

P

ia)

W

i_

<

a

o

z

REVISIONS

oate: 11/3/14

SCALE: N.T.S.

DWG. BY: JK

5 O
R
w_ S5
20 < =z
= =
£f 2 X X
L
& 2
151.5 MAX. OVERALL FRAME WIDTH
[~ 74" MAX. FRAME WIDTH — ng\fj‘s’ AWA;E);H -~
T
O
£
— 5
© £z
= 55 O X X O
2 23
%‘ —_—
o)
b4
e fos 1 5 15
g | DESIGN PRESSURE | DE!
e .POS., ik _NEG.
XX 74.0" X 98.0"
+ .
OXXO 151.5" x 98.0" 40.0 40.0

CHK. BY: LFS

DRAWING NO.:
TX—4498

sweer _ 1 of 8

© 2014 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Taylor Permanent\TX-4495-98.dwg, 2.4

HINGE REINFORCEMENT

I/4
//
i

DOOR SKIN

/"1 HORIZONTAL CROSS SECTION

i
4
w

. 3575 MAX.PANEL ___
WIDTH

D

\2/

48.75"

&P

95.25" MAX. PANEL HEIGHT

o o

T

\

SEE DOOR LOCK
HARDWARE TABLE

D

40 TAYLOR DOOR DOOR PANEL

50 TAYLOR DOOR SIDELITE PANEL

DOOR SKIN: 0.022" MIN. THK. STEEL
CORE MATERIAL: POLYURETHANE FOAM

KNOB: NEW TRADITIONS
DEADBOLT: NEW TRADITIONS (800 SERIES)

KMOB/LEVER: "F" SERIES
DEADBOLY: B60/62

SCHLAGE

POLYURETHANE
FOAM CORE

EXTERIOR

- 175"

LOCK BLOCK (WOOD)

[P r20e

L 240°MAX. _
5195 FZ’:!\(A}E WIDTH
3 o | O'MAX. |
> *| [=—0.54 " D.LO.WDH |]
y . e e —
T f —ef e 0.037"
3 0 © ® 0 >
Ll ) v | -
HINGE REINFORCEMENT
Door only
.
5 e ZE
0 =z
O :
- 425" — ] R g = nS
275" — 2 e o O
d } < o 1
- O <
E $ 3
} z b
< o\ Tmm———
INTERIOR L SN
T
—15 ‘ 1 <&
.om LITE FRAME : : ——L
HP Polypropylene P - - :
[/ \ . 3.25" 7»1 L-— ‘j
{ J p (TYP)
#8 x 2-1/2" PPH SMS ODL LITE FRAME
(TYP.)
i Z2A
[T

2.75"

/"2 "\ VERTICAL CROSS SECTION

NE

a
i
\

N
W

LOCK BLOCK DETAIL
Door only

INTERIOR

1/8" TEMPERED GLASS

1/2" GLASS BITE
1/2" OVERALL
GLASS THK.

uj
T
23 £ o
Er 0 [
.C‘ % Ll @
Q m 2,‘:
“wogn 2
u:G. = 0N gl
A f‘
c -
8§ %g:} zZZz
= [eR%]
£ =R 2
e Z5g¢e ug
2> @é
Zow &
5 8g9. o
& O™
9 4
o %sz L
£ §%g °56
g 256 @
& 39c gy
& D oo 3%
e
s
s £
5 3
¢ Bo
9
<]
a
Lot
=W
S o5
S50 L =T
a9 o
Ch-—l
RS
%L;i‘ Ll e Z
= wn S
= 2 o
5 xl
= o
o &
@ <
a o
>_
m
%)
z
o
2]
>
i
o
Ll
l_v
<
()
o
=z

oute: 11/3/14

i
Qt/ . AIR SPACE
1/8" TEMPERED GLASS

SCALE: N.T.S.

- \ AN
EXTERIOR ALUM. SPACER

DWG. BY: JK

.. Iy
- \
. \

s

.\

CHK. BY: LFS

“REDI-SEAL GLAZING COMPOUND
f
G1 GLAIING DETAIL

DRAWING NO.:

TX~4498

SHEET 2 ofF _&

f{j\, -1

2074 R.W., BUILDING CONSULTANTS ING.

i



‘ONT SLNYLTINSNOD 9NIaTINg "M ¢ LOZ 0

ZGBLi~d # NOUWVHISIOFIN 40 ILvOLILNED I SNOISIAGY 3G TON
SHIAZNIONI TWNOISSIH0HE 30 QuHv08 SVXGEL WZOI.G\\/MJM L M S ~ ﬁ_L\N © 8~
(616°659°C1Q ON ouOUd : DS S el el L
SBSEE 14 OOUIDA OSZ XOF ‘O'd \Sug. ATBA3SSY ¥0 1dvd Qlz 53 |°
"ONI *SINVLIINSNOD ONIGNNE - NENENR 3*

¥000 133LS =g s &

£ZI¥OLF T'd SWAL 3004 ¥OTAYL WlF sl l|3 g
T'd WPIWYDS ‘4 uopull :Ag pesodeug BIUSWINDOQ 110ONA0dHd SI2151518 5

A7t g2

@
1@
5
=10
<%
L) > Q W @)
jEE)
=t
>
.
O
e

////
4
S5

(30
NE
/

ELEVATION
XX

“ /
p
s>

'€ ‘BMP'86-SBIb-X L\IUBURUIIRY JOJARI\SIUBHD\ Y



2014 R.W. BUILDING CONSULTANTS INC.

®\<’(\} o /\\ — NOTE. ig
-1 \ T | Pratn / LT " Spacing for item F or K @ head & sill: 6" from each N € g 2.
\ it - ] end plus 1 @ centerline (3 total). R T Ex L
: : ¥ ';,. . ':‘ B 5 W ) z :
DRYWALL —\ | \ / EXT. SHEATHING DRYWALL—\" | \ it EXT. SHEATHING - o 2;,5 %i
5 it 57 5§88 oE
. T 3>o g
\ / Zgo &0
\ | it EXTERIOR /4 INTERIOR o & S8 EQ
1% . ‘- I /@ : g % g f 16 ls
g 245 gu
© ~ K IS
) ar
®\ — @ ! SEENOTE | F = 9k
* SEE NOTE 1 ? - £ @§ §o
® O . | z -
sy S8
INTERIOR EXTERIOR INTERIOR EXTERIOR = ﬁ 0
A\ W Lo 3
35 %
/ 1"\ VERTICAL CROSS SECTION /"2 VERTICAL CROSS SECTION g |3 35
W Inswing shown (Qutswing similar) w Inswing shown {Outswing similar) SL{F)U § =0
S
G) wooD S 5
S K
/"5 \ VERTICAL CROSS SECTION ~ \.F) “ONCRETE 8 |8
\4// Inswing sill x
A\
INTERIOR EXTERIOR
[72]
/ \\ 5
@ INTERIOR \Ix EXTERIOR INTERIOR /‘ EXTERIOR =
6 ' Z
7 7 24z (24125 :
@ /r g SEENOTE 1( F , @@
= ey, . @ \ /
== ] i
; N o
ANAN SN ANNNANNNNNN N\ SNNNSNNNNY AN ol
v \(@ WOOD ~{ &) WOOD / {G) woop v oK
C;) CONCRETE ( p) CONCRETE ( P ) CONCRETE cH. Br:  LFS
/"3 "\ VERTICAL CROSS SECTION — /"4 "\ VERTICAL CROSS SECTION “— e \ RAG T
4/ inswingsi \_4_/ Outswing il { y(\ffﬁﬁfiﬁlc‘mss SECTION TX—4498
h o SHEET _4 oF _ &

Ri\Clients\Taylor Permanent\TX-4495-98.dwg, 4.4

P
©




R\Clients\Taylor Permanent\TX-4495-98.dwg, 5.4

EXT. SHEATHING

0.5
C'SINK

L

L

EXTERIOR

AN

DRYWALL / C‘é

INTERIOR

d(\a

11

m HORIZONTAL CROSS SECTION

W Inswing shown {Outswing similar)

/

@%
NN
5,>¢

SEE NOTE lé

|
m
>
m
=
@)
pav]

/” 4\ HORIZONTAL CROSS SECTION

\\\5’/ Inswing shown {Outswing similor)

015" __
C'SINK

/‘ EXT. SHEATHING

SEENOTE 1 ®\

EXTERIOR \

‘‘‘‘‘‘‘ ]

/X
%

/e

INTERIOR

(50

\ DRYWALL

m HORIZONTAL CROSS SECTION

5/

Inswing shown [Outswing similar)

@ EXTERIOR

A

W

INTERIOR

/3 "\ HORIZONTAL CROSS SECTION

\ y Inswing shown {Outswing similar)

NOTE:

1. Spacing for item F: 6" from each end
and 6 more equally spaced along

sidelife jamb (8 total).

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Vairico Fl.. 33585

BUILDING COMSULTANTS, INC.
Phone Mo.: 813.659.9187

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

%)
8
o
o o
88 o
' ol 25
Oh' o ZQ
o S oW
T ] wy
o K7
zn =
. < Q
= o
o
3 o)
S &
& <
o o
>_
2]
n
z
Q
2
=
Lu
o
[
!,..
<C
[a)
o
z
oaTE: 11/3/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4498

SHEET 5 OF _8

D zZo14 R.W. BUILDING CONSULTANTS ING.



o
s

; B
Hidl s
St g
=
aliee!
&
po
"
&
.
$
U
o
5
=
S
I
- on ™
ol Wi lt —
migtini
! ‘

A

ASTRAGAL SCREW LOCATIONS

(17) #8x 2" PH
SELF-DRILLING SM$

jt 1.75"

5/16" @ SLIDE BOLT
(2' THROW @ EACH END)

2.88"

CONCEALED STIFFENER

l

(::) ASTRAGAL
DLP

ASTRAGAL STRIKE PLATE
\ (1.19"x 3.25")

ASTRAGAL BOLT DETAIL
Strike Plate @ Head

/i
/4
/7
/
//

o,

§_._________._____:..'
e
9]
R
¥

o (1.19" x 3.25")
N
3/8" @ BOLT HOLE WOOD

Q )CONCRETE

ASTRAGAL BOLT DETAIL ASTRAGAL BOLT DETAIL
Outswing Threshold Inswing Threshold

48.75" FROM TOP
OF ASTRAGAL

e}

;
GOl

1\

LATCH AND DEADBOLT DETAILS

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Voirico Fl. 33585
813.658.8187

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone Mo.:
CERTIFICATE OF REGISTRATION § F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

9.25" FROM
TOP OF JAMB

| DETAL

IS

ﬁ“//i:D
G
-J RO,

_ ASTRAGAL STRIKE PLATE

HINGE DETAIL

“’-1
o

26.125"0.C.
(TYP.)

l-‘_

)
=
Sx =
8 S
Q':’i—'lu
5o o &
o 19 <
S 1S 2
—~  fu
g0 ol 2
< 3
= o
14 o)
2
o £
& <
o o
)—
sy
%)
z
)
2
>
]
o
Lt
I....
<
Ia)
o
z

HINGE JAMB

oate: 11/3/14

SCate:  N.T.S.

OWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4498

SHEET 6 oF 8

RAClients\Taylor Permanent\TX-4495-38.dwg, 6.4

0 2014 R.W. BUILDING CONSULTANTS ING.



‘ONY SLNVAINSNDD SNIGHNE "My v LOZ &

ZTSBLiI—4 # NOLVMISIOFM 40 ILVOLLNIO SNOISIATY .
SHIINIONT TYNOISSA4OHd 40 QUVYOE SYXIL INIHOHINY TNvelo A8 J1vd [ON M vilx 0 © 8_
LBLB'BSI'CLE "ON @uoud : : 5 w
GBGEE 14 OOWIDA OFZ Xof ‘O'd \S«WM« ATGNISSY ¥0 LdvYd @/ W ! TS
ONI ‘SINVIINSNOD ONIQING — E _/*
¥00a 133LS LB ElE R
£ZTI¥OLF "T'd SwXIL 4000 YOAvL e «|2 &
"I'd WPIIYDS 4 uopuk 1A pedpdesd sjuswinoo( 10NA0Hd 191213518 z
Areist g 47
- (dAL) XYW
e (dAL) 0'0.51
9
1 “ _ . _ _ N :
o)
o g
Es © ()=
- o -
& 7| 5
= k L N - w
b= =1 | I I I I f—
I —l I I I I =
o
®m
| m
= —
o o
£ =
= X
—| ] | | ] | |
-1 | | | | | o
(%]
o0
=
< O
alz
<
jEN)
h £
| | ] ] ] |
ﬂ
o
e
| | (dAL} "XwW
e {dAL) D051
.9
| | | | | | |
—~a
s E >
)
R
- _ y
L — - x
€5 Q O
R N 8 2
2 T O T
2 (o) =)
ST -
ol W X > ®
Q= o
i o ol B
O
1 _ 2l o2
_ _ _ _ _ _ =<3
' I =D
_ U2 =
—_ g - m
B> NE S
= w2
3D
¢
- z
e
2

v 'BMP86-SEr-X L\IUBUEWIB JOjAR \SIUI TN Y



R\Clients\Taylor Permanent\TX-4495-98.dwg, 8.4

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A | 2X FRAMING (SG >= 0.42) WOOD
C | 1/4"MAX.SHIM SPACE -
F | #7 X 2" PFH DRYWALL SCREW STEEL
G | #10X 3 PFHWOOD SCREW (1-1/2" MIN. EMB.) STEEL
J | #10X 2-1/2" PFH WOOD SCREW STEEL
K | #6 X3 PFH WOOD SCREW STEEL
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M | #8X2'PHSMS STEEL
P | 1/4" PFH CONCRETE SCREW [1-3/4" MIN. EMB.) STEEL
Q | 3/16" PFH CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 | WOOD JAMB (FINGER-JOINT PINE) WOOD
5 | 2X MULLION (SG >=0.55) WOOD
6 | SWEEP PVC
7 | WEATHERSTRIP FOAM
9 | #10x 3/4" PFH WOOD SCREW STEEL
11 | 4'X 4" HINGE STEEL
12 | LATCH STRIKE PLATE STEEL
13| DEADBOLT STRIKE PLATE STEEL
20 | INSWING THRESHOLD ALUM/WOOD
21| INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
22 | OUTSWING THRESHOLD ALUM/WOOD
23 | OUTSWING THRESHOLD ALUM/WOOD
24 | OUTSWING THRESHOLD ALUM/WOOD
25 | OUTSWING THRESHOLD ALUM
33 | ASTRAGAL (DLP) ALUM
40 | DOOR PANEL -
50 | SIDELITE PANEL 3
e 2.14" ——=]
PN
LN B §
3
(]
CONCRETE ANCHOR NOTES:

1. Concrete an

chor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete an
maintain the

chor locations noted as "MAX. ON CENTER" must be adjusted to
min. edge disiance to moriar joints, additional concrete anchors

may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete an

chor table:

wn
o~

i 4.563"

75

‘ foe
‘ |

' 23

0

( : > WOOD JAMS

— 456’ ]

} 2.89"

I
mE=S———=>

]

‘* 1.32" *—1

INSWING THRESHOLD
20 DLP

4.625"

|

22 ) QUTSWING THRESHOLD
DLP [QOS)

544"

T
N

@ INSWING THRESHOLD w/ SIDELITE ADAPTER

DLp

1.25"

%wﬂ

1.25"

2.53" i

23 QUTSWING THRESHOLD

DLP (QOSH]

ul
e o
23 & o8
[~ (] Ll )
k3 o Wa
5 .8 z-
Ad ¢RB BT
h:u' = N~ oWl
cg 'dg #‘
! %32 5z
[l = T Q9
) Htw BE
) DO . “
238 Eé
. £3wm gu
§ 8% Fg
o 4
© QEZT
z
£ Zo, OY
g 3d55 o
* 3ot %k
[ 85
£ £
[
€ o
E L
3 éo
Q@
o
e
Do
o =2
SO xZ
S8 He
o > <O
oo |3 =%
o~
=5 |7 58
= al
. 4D
= x| M
O
2 o
S &
@ <
a a
>._
m
)
=z
@)
)
[
B
<
[
o
=z

owte: 11/3/14

ANCHOR [ANCHOR| = MIN. | ML Mt CLEARANCE — e NS
L TYPE | EMBEDMENT | =0 P S ANCHOR ™ I : i
o 1-3/4" 1-1/2" =
AN T3 & 24) QUISWING THRESHOLD @oumwwc THRESHOLD e ——
Eco | . ; ] ; Combo DLP (OSHC o
utrracon®| /4 1-3/4 ! 4 ( | TX—44398
SHEET _§ oF _§

014 RW. BUILDING CONSULTANTS INC.

) =
) 2



